CERTIFICATE OF REGISTRATION # F-11852

O, e

POWERED BY|W, St $ .
| Swr if s> B 2
&0 HEES ou Y®w 8
5;% foiay Wt Zd,\ &

e 1 SR Pl
° 74' MAX. O.A. FRAME WIDTH Gui V2 iS sé £.5 3
DOOR COMPONENTS MADE IN THE USA g 0T gk Zig 8
{’3‘/@"‘*-‘ =X I 384 @
8y e oi S e 9 - &
&}_{’c:’w‘: PR 6m® 9
Voo™ & O%gs g
o Q5% u
o gm o O

o [ =4
a =g6 2
. / / £ RoE g
Glazed Fiberglass Door / / : = ¢
Vi Vi 5 g

/ / £ x

a

"NON-IMPACT"

~ 8
LZD % H
INSWING / OUTSWING z 5 I %
Z QS 55
£ E 7z
5 9 Sz
W -2
T | s |, 82
2 Z S | g6
z & X X 2 |33y
He - L ad
< < i ol @,
o 9 e 2=
>< é 5 xl & (?)
: 3 ' 2 | e
EVALUATED FOR USE IN THE STATE OF TEXAS Y K - g % a
The Glazed Fiberglass Door system described herein complies with the 2018 ~ // //
Infernational Residential Code {IRC}, Sections R301 & Ré0? and the 2018 < // / // blogp =
International Building Code {IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 [ f o
subject to the following conditions: / / Lé’ %J
1. Anchors shalf be cs listed and spaced as shown in the details. Anchor : 2 E
embedment to base material shall be beyond wall dressing or stucco. ] % ©
2. When used in areas requiring wind-bome debris protection this product is ’g Q § ”
required o be protected with an impact resistant covering that complies A O 1 I I =4
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. 221318 12
3. Allowable design pressure requirements must be equal fo or less than the NN E
design pressure rating shown in the design pressure chart, sheet 1 of this sy 2 x
drawing. Btz
4. Conditions not covered by this drawing are subject to further engineering g oz
analysis. 21532
< <)<
2 |20
TABLE OF CONTENTS > é§ b
WNEENIQES
o
SHEET# | DESCRIPTION XX | LIPLITEINSERT |  INSWING +40.0 | -45.0 S8
] Typical elevations, design pressures & general notes S I PN cz>
2 Astragal details (Ulfimate Trilennium) XX LIP LITE INSERT | OUTSWING +35.0 -40.0 oate: 1,/16,/14
3 Door panel details (lip lite insert glazing) ScAE:. N.T.S.
4 | Door panel details (flush glazing) XX  |FLUSH GLAZED | INSWING +40.0 -40.0 owe. Bv: UK
5 Horizontal cross sections cHk. Bv:  LFS
6 | Vertical cross sections XX | FLUSH GLAZED | OUTSWING +45.0 -45.0 DRAWING NO.:
7 Frame anchoring TX—4433
SHEET ] oOF _7

Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBC\TX-4432-33.dwg, TX-4433

© 2014 R.W. BUILDING CONSULTANTS IND.



‘ONL SINVLINSNQOG aNIiging "m'sl v LOZ (@)

Tt fnoinimey o oo, (NNNTISL o) g S— 3v0 ToN]
L616°6S9°C18 FON Suoyd . S47| 39N1dY0 NId TvovyLSY MIN dav|sL/L0/S| | T A ES A 7_
G6SLE T4 OSHIDA 0£Z X08 '0'd \N\E% AIBNISSY §0 Ldvd [ s SOI0HS3¥HL 030av|91L/0z/01] ¢ |S|'Z| || T | 6
"ONI ‘SINVLIINSNOD ONIqUNG 3000 2MI/081 8102 Ol 31vaddn T < 21 2*
S47 % NOILLJO  Bwbpijuoisnd, davieL/cz/0L] € | — Elsle =
_EZTLP0L4 I'd swxal VENANS wld el el [
T'd WPIUIYDS 4 uopull :Ag pedodeid sjuewINSoQg 110NQ0¥d m 3 W 5 W M
\ﬂ% WOLLOd
52 «
AN
x%& »
Rl
................... I -
1 NOON AT 2 uﬂ.ﬁ
P ‘m.%..wt —
rg i
i~ N in
& 3f2
N
- _ S9T
| .
J Q
=
- .
& n 2
Mu. . ™~ 8]
- - (&)
N 2 S
> = w j5
- 0 A
i
!
”M -
&
o
o [2¢}
| & - 2
[2a]
~ <C =
O <
- 9
=8 2
v
& 3 3
2 » < < o=
O A3 T ) B
Z 8 S 2
A
&
Q
s
8 a
b >
=
(7]
v
=
I
L.
.
S
N
= >
S o
N 3
- |
dO1

Upper Bolt Sleeve
{Aluminum)

[0]
o
=, o E
s O w3
- = D = C
frm [ R Om
D..m E ) Cal=]
N 3 89c¢ <
3 o 2 e
,..I..d Q0 —d
> 8 O <€
@0 O =
* =z
)

ULTIMATE TRILENNIUM ASTRAGAL

\ Aluminum Body

/@!

7T BMPEE-2ErP-XL\D8I 8107 AZU\sBUIMEIT - D\IN D4 SHUOSBIN 50/-¥G - JAL\SUI J0 3daq sexa] - \LNINVINYId BInpuI\sIuaID\y



»\ \? N\,‘:\“»\L‘:L}.zz h‘i "
STILE (LVL) STILE (LVL) S AN o
INTERIOR 207 ‘ SRR 8, fq
& PO T & S = g uo
W ‘l!‘ =—_f TOP RAIL 2= b 1500 du ¢B &7
| gl (WOOD) ot s e E o Bl
\ | 2 / o o i io FES
\\ o = E‘ / ™ ?,uj.‘. E‘-SV- g o gz
\ ! Z / — s, 10 k: eg 85
N z é bl 9. (81 5 Lge pE
§ el QP Wi E eed g->o @é
\. f\ zlh‘\f: ~ 3,"‘— g S © 25
— 1XRY .
16— EXTERIOR e & g8 ¥
o £0 ¢ 016
WOOD LOCK BLOCK g ds5 e
1"\ HORIZONTAL CROSS SECTION 21" LONG) FIBERGLASS g 388 &k
3/ DOOR SKIN P mE
: :
£
#6X 1-1/2 ' e K B8
35.75" MAX. PANEL
WIDTH L 2"MAX. INTERIOR —— 1/2" OVERALL GLASS THK.
D D.L.O. WIDTH 2 mg
1/8" TEMPERED GLASS =
. — - AIR SPACE < S
, \ S |y o
710 . 1/8" TEMPERED GLASS S g 22
k4 v LL]
\3/ ' S - .\ EXTERIOR STEEL SPACER & ot
< ]
.. o)
1 om Q'SO SEALANT INTERIOR EXTE 5 xl S
#6 X 1-1/2" PPH SMS 3A LOW TACK SEALANT INTERIOK . RIOR § S 3
&= > & %
o = IE (@) cran omaL @/'
T & O € 12151
[Xy] B o Z
& . o i %° g
E % zie |5
e = Elo] 2
N & | o] |2 o
2 - B — olol8lz] B
SNEERE
= FOAM CORE SRR =
. . . . in 3 c|O
<E 5 ™ S|
y T‘“ | 2|2
N /// . . . l . _i . o g 8lo
/ 1 y N in alR|ala
. . " . N N~ < | <C
— o| |oln
22 | NINE
SEEHARDWARE  (1vP) "'l L_ L BOTIOM RALL R 2 KB
TABLE [WOOD COMP.) = S| [Sl°
2 (SHEET 4) =
ODL LITE FRAME 38 | o] N IE
) J oTe: 1/16/14
DOOR PANEL ODL LITE FRAME =-—71.75 scALE:  N.T.S.
Mosoni’re HP Pokypropylene ‘ owe. BY:  JK
Fiberglass cHk. BY:  LFS
2"\ VERTICAL CROSS SECTION DRAWING O
DOOR PANEL SKIN: FIBERGLASS (0.075" MIN. THICKNESS) 3/ TX—4433
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) PO ——

R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBQ\TX-4432-33.dwg, 3.2

@ 2014 R.W. BUILDING DONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBCQ\TX-4432-33.dwg, 4.2

STILE {LVL)

/

EXTERIOR

e 1,75" —=]

[ el e ]‘6" e f—

35.75" MAX,
PANEL WIDTH

21" MAX
D.L.O. WIDTH

S,

INTERIOR

/1 "\ HORIZONTAL CROSS SECTION

209"

/

STILE (LVL)

g ].6“ e fi—

COMPQOSITE U-SHAPED

LOCK BLOCK (21" LONG)

4/

o

oK &=

Q0 =<0

OL <5 p—
xTt =T 4
<d ig

=z R

gzn_ (& ]

>

MASONITE
Flush glazed
(fiberglass)

DOOR PANEL SKIN: FIBERGLASS (0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.})

SEE HARDWARE
TABLE

EXTERIOR

i
£

DOOR PANEL

GLASS BITE 3/4"

POLYURETHANE SEALANT
— 1.0" NOMINAL GLASS THK.

1/8" TEMPERED GLASS

~
N

INTERIOR

G2

GLAZING DETAIL

Flush Glazing

End Trllennium®3000 Series
hdura Multipoint lock (3pt.)

STEEL SPACER

AR SPACE

~~—1/8" TEMPERED GLASS

(WOOD COMP.)

TOP RAL \%

— 09" l*—

EXTERIOR

INTERIOR
FIBERGLASS
DOOR SKIN
FOAMCORE ||
BOTTOM RAIL /§ \ \ T
(WOOD COMP.)
-~ 175" —

7“2\ VERTICAL CROSS SECTION

N

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Vairico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

(73]
=
<O
L=
s | SR
o7 ey ot
=) 5 Lo
S Q <z
g & D—g
gl xz
<| v
i o 8
[®]
8 (e}
el |E
[+ Q.
A B e
-~ -J

UPDATE TO 2018 IBC/IRC CODE
REVISIONS

5/07/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS

10/23/19|ADD "FusionFrame” OPTION &
10/20/16|ADDED THRESHOLDS

3
2
1

NOJ DATE

DATE: 1/16/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4433

SHEET 4 oF 7

@ 2014 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBC\TX-4432-33.dwg, 5.2

2X FRAMING 2X FRAMING s W,
. (G>=042 (G>=042) DRYWALL STy o8
5 - DRYWALL - N I St 9.
>4 ~ . ~pm \;< St i YIE= & s
> EXT. SHEATHING / EXT. SHEATHING 1A Niad ~ L e = oG
I i1 Qg\\\LLg < E o 3
Il / | / 1 ! . iz 3 3a 23
/ / , il e e 18 350 i
’ 1 T a":“)“ R 58 =
/ / , S #m0x 2172 PR 14 Mgeint L z 887 g8
, LT~ WOOD SCREW il oo g 32 E
‘ i A ) .‘ 8 £ m e OO
1/4" MAX. 1 f ~ & 598 g
I SHIM SPACE ’ o s " #10X 3" PFH : mg §§
n Z
l 37 & MAX. WOOD SCREW g 9c
ST SHIM SPACE D D D \ﬁ“’} 5 @ Wo
f = oo 8
X X DOOR PANEL f DOOR PANEL
@ | = \ HEAD: PINE \ HEAD: "FusionFrame" {1-PIECE)
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP %}
D/PE 650 QEBD/PE 650 )
\D X (QEBD/PE 650) X { ) < E5
)—
/ / EXTERIOR INTERIOR EXTERIOR INTERIOR s |3 S
V4 V4 R BT
y I/ "2\ VERTICAL CROSS SECTION (~3™\ VERTICAL CROSS SECTION 9 T
w Outswing shown - inswing also approved \y Outswing shown - inswing also approved S «
]
b d 8 k
[V <
[s N Q.
il (L{z (Lf_) (Lllz E
(43 132 1/4" MAX. 015 1/4" MAX. o
5 —= j=— C'SINK W
CORNER PADS\_8_\_6 \8/ SHIM SPACE (TYP.) , SHIMSPACE  EXT. SHEATHING S| IS
{TYP.) g JAMB: "FusionFrame" 10| |5
EXT. SHEATHING (1 OR 2.PIECE _lo| 3
. JAMB: PINE \ 2N |z
S S S——S— S " A~ S S WS~ a »n
075" —=—— 075" =075 e / 1/2" #10 X 2-1/2" PFH ?ﬁ | B o2 z
B s hax2 2 oo WOOD SCREW | B 8|3 S
OI0|<T
9 SRR TR oSl =
,,,,,,,,,,, ULTIMATE TRILENNIUM ASTRAGAL s P ]
2X FRAMING WY, ce? |=
COMPOSTE (G >=0.42) ENDURA WEATHERSTRIP ZXFRAMING | 191 1F IS
\ SNAP-ON ' (QEBD/PE 450) ENDURA WEATHERSTRIP (G>=0.42) 2zln|@
. CAP DOOR PANEL (QEBD/PE 650) - - IS8
) /\ ok
3 2 ol
2 m Y 0N . LRV } é S E
= N T\ wiann 3 1985
/ cJ e YRy L e E / \\\ \ !Ina ——1 S
0 / -
0 ! DRYWALL/ / () DRYWALL 1 _1/16/14
#8X 2-1/2" PFH #8X 1"PFHSMS #10X2-1/2' PFH MULTPOINT O X 1" PFH SMS #8X 2-1/2" PFH SCHE  N.T.S.
—] ' : WOOD SCREW WOOD SCREW DWG. BY:
1.25 WOOD SCREW " JK
#8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS cik. 8. LFS
DRAWING NO.:
JAMB/HEAD JAMB/HEAD = JAMB / 1"\ HORIZONTAL CROSS SECTION o s
PINE FusionFrame FusionFrame 5/ Inswing shown - Oulswing also approved
(] 'PIECE) (Q’PlECE) U SHEET _5_ OF L

© zo14 R.W. BUILDING CONSLULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBC\TX-4432-33.dwg, 6.2

\\

\\

INTERIOR EXTERIOR INTERIOR

DOOR PANEL
DOOR PANEL
ENDURA
DOOR SWEEP ENDURA \
(DBK-R) DOOR SWEEP
4? / {DBK-ZAC)

EXTERIOR \DURA
WEATHERSTRIP _ _ DOOR PANEL
INTERIOR EXTERIOR
(QEBD/PE 450),  INIERIOR HEROE
WEATHERSTRIP.  INTERIOR
(QEBD/PE 650)

EXTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR {TW CONCRETE SCREW

/ 1"\ VERTICAL CROSS SECTION
\U Inswing Adjustable Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/" 2"\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7”3\ VERTICAL CROSS SECTION

1/4" X 2-3/4" ELCO OR TW

#10 X 2.5" PFH WOOD SCREW OR

CONCRETE SCREW

/"4 "\ VERTICAL CROSS SECTION

\&/

Inswing Articulating Threshold

& / Ouiswing Bump Threshold
w/ Pin Capture \\J

\6/ Outswing Bump Threshold

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

.  NGE ] I
o & ==, N 3 3
) * 3 ir » ,
| 456" | — 7 | 456" | 456" ! | 456" !
1 INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
LAIL4565 2 ZAI4565FN ZAILAA4565 ZAIAA4565FN ZAI4565RDS
MAX. DESIGN PRESSURE = +40 PSF
! - 456" - ! ! - 456" 4.56" - ! L———————— 4.56" ~—————J
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
6 JACLA545 7 IACA545FN ZACLAA4565 LACAA4565FN ZAC4565RDS
MAX. DESIGN PRESSURE = +35 PSF
| ] ]
< = h ;
1 i f i
! 454" ! L-—————* 4.56" I ! 4.56" ! ! 4.56" !
1 QUTSWING THRESHOLD 12 QUTSWING THRESHOLD 13 QUTSWING THRESHOLD 14 QUTSWING THRESHOLD
ZOBL4S6S ZOB4565FN ZOB4565RDS FOB4566

)
=
o
=
8
w
»
<
© A
D S
Q “'D:
> o
L S| ©
7
<
S
.. =
k- o
o Q-
= (=
3} &
g <
a o
nl nlnls.
I BT B %)
wl |
S 5
IO 1E
Q <
Slg| |°
=N
NN
oim
=0083:’
il
L |
N
S|N| Tl
it
L EIN
0n
EE"E
=E§QZ
Iy
ol idlo
Y Bl Iy
< <<
[¢)] (Olo
\"_
Rl ISR
o
NEENE
w2

REVISIONS

oATE: 1/16/14

SCAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—~4433

SHEET 6 oF 7

© z2o014 R.W. BUILDING DONSULTANTS INC.



i HEAD ANCHORS: W
32 #10 X 2-1/2" WOOD SCREW (PINE JAMB) e
gQ& #10 X 3" WOOD SCREW (1- PlECE JAMB) Astragal Srke Plate 23
in O [+ 0 £
3‘ =3 " (T\?p ) @ Head Jamb B

a [" (TYP g oo

(TYP.) e %
{ ',\O ;l o, :%

MY
A\

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Valrico FL. 33585

BUILDING CONSULTANTS, INC.

o~
]
]
k3
S
i SEE HINGE g
A/
1 —F BB DETAIL 1 "— \\ . g
: DETAIL 1 ' . N 5 s 88
2 = 8 #10X 2.5" PFH WS 3 T
sl e g £ o°
DETAIL 1 £ & 2k
% [ 1 JAMB ANCHORS: : E
2 0 | #10 X 2-1/2' WOOD SCREW (PINE/2-PIECE JAMB) \ P R
\ #10 X 3" WOOD SCREW [1-PIECE JAMB) - #8X2-1/2'PFHWS |3
[a]
= g o il # Z
i B —g Lo |ile
3 #EX1PFH WS é:, 1l T s x3aprH ws
FB- SEE HINGE I ' [ 4" X 4" HINGE ©
DETAIL 2 \ x
. g |z
- HINGE DETAIL | =
(] E "
nl =
‘ ) I DETAL20R3 | i \ ) 2 3
B * % | #8X2:1/2'PFHWS 5 S
. - 1 (=)
I \\ Ll db 1 | / Lo e L] e | g %
L1 = - 2 [ N
% SILL ANCHORS: #8X 1" PFH wsé:‘ [1]o I #8X 3/4" PFH WS o 1212k
4 (leYF(’T-%( iy #10 X 2-1/2" PFH WOOD SCREW — 4" X 4" HINGE
. o T - 1 " A\
FLOOR SUBSTRATE MATERIAL " [~ 4'(1YP) 1/4" X 2-3/4" ELCO OR \
HINGE JAMB  CONCRETE (MIN. 3000 PS) ¢ TW CONCRETE SCREW HINGE DETAIL 2
WOOD (G >=0.42) FRAME ANCHORING

XX

*NOTE: Outside anchors are required for D.P. > 40 PSF.

JAMB NOTES:
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB.
THE FusionFrame" 2-PIECE JAMB MAY BE lNSTALLED @ THE SIDE JAMBS ONLY.

UPDATE TO 2018 IBC/IRC CODE

10/20/16 |ADDED THRESHOLDS

5/07/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS

10/23/19|ADD "FusionFrame” OPTION &

REVISIONS

CONCRETE ANCHOR NOTES: ' ‘ o . '
1. Concrete anchor locations at the corners may be adjusted to maintain the min. 3/16" X 2-3/4" ITW CONCRETE SCREW
edge distance to mortar joints OR ASTRAGAL PIN CAPTURE
N 1 [FE]
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) D
maintain the min. edge distance to mortar joints, additional concrete anchors ASTRAGAL STRIKE o
may be required to ensure the "MAX. ON CENTER" dimension are notf exceeded. PLATE @ SILL 1/2" DIA. HOLE {IN CAP) S
3. Concrete anchor table: \ PN
TRV % ® §‘° S oATE: 1/16/14
= LY - = 4 = = SCALE:  N.T.S.
: NSRRI 4 g Y g | DWG. BY: JK
mw ' " CHK. BY: LFS
o 14 1-3/4" 1-1/2 4 , :
TAPCON 1/2'DIA.-HOLE peray DETAIL 2 DETAIL 3 A 433
ELCO ol 14" 1-3/4" " 4" Outswing Inswing Inswing
ULTRACON e 7 oF 7.

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBO\TX-4432-33.dwg, 7.2

© zo14 R.W. BUILDING DONSBULTANTS INGC.



